6606, SOLUTION, SSC CHSL

Ques 1. ANS (C) Solution:

Chronology is an arrangement of events or dates in the
order of their occurrence.

Let's look at the meaning of the other options:
Chronometry - the science of accurate time
measurement. For Example - An analogue to mineral
chronometry is O isotope geothermometry.

Charter- a written grant by the sovereign or legislative
power of a country, by which a body such as a city,
company, or university is founded or its rights and
privileges defined. For Example - This new law amounts
to a tax evader's charter.

Calendar- a chart or series of pages showing the days,
weeks, and months of a particular year, or giving
particular seasonal information. For Example - Do you
have next year's calendar?

Ques 2. ANS (A) Solution:

Bleed someone dry is an idiom that means to drain
someone of all their money or resource.

Many businesses complain that the new taxes

are bleeding them dry.

Here, this sentence implies that the taxes imposed are
too much and are draining the wealth of many
businesses.

Ques 3. ANS (C) Solution:

The correct answer is:

'Abhishek was seen starting the car by Shyam.'

In the passive form, the subject and the object get
interchanged.

'‘Abhishek’ will become the subject in the passive form.
The sentence is in the past continuous tense.

So, the passive form will be- subject+ was + past
participle form of verb + continuous form of verb +
object.

Ques 4. ANS (B) Solution:

The Correct sentence is: All my office colleagues were
very supportive and encouraging during my office
tenure.

The error lies in part 1 of the sentence.

A pronoun is a word that replaces a noun to avoid its
repetition.

A possessive pronoun is used to indicate that something
belongs to someone.

Examples: mine, ours, yours, his, hers, their.

On the other hand, a possessive adjective comes before
a noun or a pronoun to show who owns it.

Examples: my, our, your, his, her, their.

We don't use possessive pronouns with another noun or
pronoun.

Hence, in the given sentence, 'mine’ should be replaced
with 'my' to make the sentence grammatically correct.
Ques 5. ANS (D) Solution:

'Paucity’ means the presence of something in only small
or insufficient quantities or amounts.

'Dearth’ means scarcity or lack of something.

Hence the option that is nearest in meaning to the
underlined word is 'Dearth ".

Ques 6. ANS (A) Solution:

To face the music means to accept the consequences.
For eg- He would later have to face the music for his
improper decisions.

Ques 7. ANS (B) Solution:

She goes for a walk every morning to the park.

As per the rule of subject-verb agreement, singular verb
is used with singular subject.

The use of the singular verb 'goes’ is appropriate in the
space of the sentence.

Ques 8. ANS (B) Solution:

| have quite a few books on art and culture.

The given blank needs an article with the quantifier 'few'.
Few is a quantifier used with plural countable nouns.
'Quite a few' is a phrase that means a fairly large
number.

Ques 9. ANS (C) Solution:

A variety of beverages have flooded the market.

The given verb needs a linking verb.

To select the correct linking verb from the given options
we first need to understand the noun in the given
sentence.

'beverages' is a plural noun.

To maintain subject-verb agreement we need to use a
plural linking verb in the given blank.

Hence, the most appropriate option for the given blank
is the plural linking verb 'have'.

Ques 10. ANS (A) Solution:

The misspelt word is Enummerate.

'Enummerate’: There is no such word in English or we
can say that there is some spelling mistake in this word.
The correct spelling is 'Enumerate’, which means to name
a list of things separately, one by one.

Ques 11. ANS (D) Solution:

The most appropriate word for the given group of words
is 'Incorrigible’.

It means '(used about a person or his/her behaviour)
very bad; too bad to be corrected or improved'.

Ques 12. ANS (A) Solution:

Correct sentence: Always check under the seat
thoroughly before you place your luggage.

There are some uncountable nouns (followed by a
singular verb) which don't take the articles 'a/an’, many,
few, and plural form:

As per the rule given above, 'luggage’ will be used
instead of 'luggages’ in the underlined part of the given
question.




The 1st form of the verb 'place’ will be used as the
sentence is in the present simple tense.

Ques 13. ANS (A) Solution:

whether you like it or not is the correct answer.

'Likes' is used with the third person singular noun like he
or she.

With the second person pronoun, we use the base form
of the verb i.e, like.

Ques 14. ANS (D) Solution:

The meaning of the given words:

Contagious: (of an emotion, feeling, or attitude) likely to
spread to and affect others.

Catching: (of a person's emotion or mood) likely to
spread to other people, contagious.

Arrogant: having or revealing an exaggerated sense of
one's own importance or abilities.

Disrespectful: showing a lack of respect or courtesy,
impolite.

Sarcastic: marked by or given to using irony in order to
mock or convey contempt.

From the meanings of the given words, we can say that
the word 'catching' is nearest in meaning to the
underlined word 'contagious'.

Ques 15. ANS (A) Solution:

The correct spelling is 'Inaugurate’.

The spellings 'enaugarate’, 'innagarate' and 'inagurate’
are incorrect.

Inaugurate: begin or introduce (a system, policy, or
period); mark the beginning or first public use of (an
organization or project) with a special event or
ceremony.

Ques 16. ANS (B) Solution:

Deadlock means 'a situation, typically one involving
opposing parties, in which no progress can be made.
Advantage means 'a condition or circumstance that puts
one in a favorable or superior position'.

It is clear that Deadlock and 'Advantage' are opposite in
meaning.

Ques 17. ANS (D) Solution:

The correct order is ADCB.

The first sentence tells us that Kristina wanted to go to
her Aunt.

Sentence D will be the next sentence because it shows
the booking of the flight:

She booked a flight and she didn't tell her Aunt that she
was going to her house.

Sentence C will be the next sentence because it tells us
the reason why she didn't tell her Aunt about her
journey:

Because she wanted to give her a surprise.

Sentence B will be the final sentence because she had
reached her destination:

When she reached Paris, she found out that her Aunt
was already dead.

So the correct passage is- A. Kristina was excited to go to
her Aunt, who lived in Paris. D. She booked a flight and
she didn't tell her Aunt that she was going to her house.
C. Because she wanted to give her a surprise. B. When
she reached Paris, she found out that her Aunt was
already dead.

Ques 18. ANS (C) Solution:

The given passage is about weddings.

The passage mentions that people generally avoid the
main idea of weddings which is the coming together of
families and having fun.

The above sentence implies that people generally do not
focus on the new relationship and the idea that family is
meant to support it.

'Seldom' is an adverb that means 'not often or rarely'.
Ques 19. ANS (A) Solution:

The given passage is about weddings.

In the given sentence, we need to use an infinitive
because it is an idea that has yet not been completed or
executed hence, we need to use the infinitive with it.
There are some verbs that are followed by a bare
infinitive. E.g. help, watch, let, make, hear, see, notice, etc.
Bare infinitives are used with these verbs when these
verbs are main verbs in the given sentence help is itself
an infinitive verb, not the main verb. The main verb is
'meant’.

Ques 20. ANS (A) Solution:

The given passage is about 'weddings'.

The passage mentions that the main idea of weddings
should be coming together of families and having fun.
The above sentence contradicts the main idea of the
weddings and tells what is being done in place of what
should be done.

'Instead' is an adverb that means "in the place of
somebody/something".

Ques 21. ANS (A) Solution:

The passage is about weddings.

From the above sentence, we get to know that people
might bring the new relationship down by taking
opposite positions and it will lay the foundation of an
unharmonious relationship.

The word 'discordant’ is the synonym of ‘'unharmonious’
and it means "harsh and jarring because of a lack of
harmony."

Ques 22. ANS (B) Solution:

The given passage is about weddings.

The above sentence implies that the relationship is new
and can be harmed easily.

The word 'fragile’ means "weak and uncertain; easy to
destroy or harm".

Ques 23. ANS (D) Solution:

The correct sentence rearrangement is DBECA.




Statement D is the opening of the sentence as it
introduces the subject and theme of the passage which
is 'Religion is not a matter of mere dogmatic conformity'.
Statement B is the second statement of the sentence as
it adds more complication by telling us that religion is
neither a question of ceremonial piety nor of merely
going through the ritual prescribed to us.

Statement E is the third statement of the sentence as it
continues further information that religion is not a
question of ceremonial piety, but it is the remarking of
your own self, the transformation of our nature.
Statement C is the fourth statement of the sentence as it
tells us that unless that kind of transformation of our
nature occurs, we are not authentically religious man.
Statement A is the fifth statement of the sentence as it
concludes the passage by saying that with this kind of
transformation a man can become fearless and hatred
free.

Correct sequence:

D. Religion is not a matter of mere dogmatic conformity.
B. And it is neither a question of ceremonial piety nor of
merely going through the ritual prescribed to us.

E. It is the remarking of your own self, the transformation
of your nature.

C. Unless that kind of transformation occurs, you are not
an authentically religious man.

A. A man of that character is free from fear, free from
hatred.

Ques 24. ANS (B) Solution:

The word necessary is an adjective that means needed in
order to achieve something.

Example: He lacks the necessary skills for the job.

Thus we can say that the word 'useless' is the most
appropriate antonym for the word 'necessary'.

Ques 25. ANS (B) Solution:

The gatekeeper said that he was not feeling well since
Monday.

The given sentence is in 'Direct Speech'. As per the
question we have to change it to 'Indirect speech’.

The process of conversion is as follows:

Here, "said" will not change because reporting verb does
not have any 'object'.

The conjunction 'that' will be added.

'I"will be changed into 'he' because the first person
pronoun is changed according to the subject of the
reporting verb.

'Am" will be changed into 'was'.

Ques 26. ANS (C) Solution:

famed () 7 <t S el Uy sepfa o wiAfed B

Shape in option (C) is embedded in given figure.

Ques 27. ANS (A) Solution:

12 1% 2011 = JEfdaR

2004 3R 2011 & o9 I BT =T = 7

2004 31X 2011 & o7 TITST Bt TS = 1

e, fawd il ot oo T = (7 + 1)/7 = 8/7 = 1 (@)
IfP, 12 A% 2011 = JWTAR

g{%ﬁ, 12 1% 2004 = §YaR (1 a7 gerd & i 1 fawm

ST, 10 75 2004 = QHAR

12 May 2011 = Thursday

Number of years between 2004 and 2011 =7
Number of leap years between 2004 and 2011 = 1
So, total number of odd days = (7 + 1)/7 = 8/7 = 1
(remainder)

As, 12 may 2011 = Thursday

So, 12 May 2004 = Wednesday (Decrease 1 day as 1 odd
day)

So, 10 May 2004 = Monday

Ques 28. ANS (C) Solution:

DY

IS o1 3 T8l 5|

$3 M T g

Tt oo i §

fau U HYA & foIT ~gAaH TJua 3RE 39 UFR &:

OnCE'W

frepy:

() BB T I8 el § — I (P PO AM T g 3R
Bls g1 AT e 5, forgest ol § fob oy &t "o’ 3,
g1 1 5, 31, TE [ ¥ 4 93 9)

() TS T 3 & — I (I P& 31 T &, TATY
o9 T4 3 8, 98 FRd S 94 Q)

() $& U 31 § — T (@IfF T8 M T §' 3R
|l T w7, Foret ol & fob et Ty, i § o
P T M 8, 39N o Tdia +f o §, 78 Fifd =y
Y IAR)

Statements:

No rat is a mango.

Some mangoes are leaves.

All leaves are papayas.

The least possible diagram for the given statements is as
follows:

@




Conclusions :

(I) Some leaves are not rats — True (Because 'Some
mangoes are leaves' and 'No rat is a mangoes'; which
means the 'leaves' that are 'mangoes' are not 'rat' so, it is
definitely true)

(Il) Some leaves are mangoes — True (Because 'Some
mangoes are leaves', so some leaves are mangoes is
definitely true)

(Ill) Some papayas are mangoes — True (Because 'Some
mangoes are leaves' and 'All leaves are papayas'; which
means all 'leaves' are 'papayas' and some 'leaves'are
'mangoes’, so some papayas are also mangoes is
definitely true)

Ques 29. ANS (D) Solution:

fearman g - 25, 52, 106, 214, 430, ?

el SR fPar T dsh § -

Given : 25, 52, 106, 214, 430, ?

The logic followed here is:

25 52 106 214 430 | 862
+27 +54 +108 +216 +432
Y N A Y A
x2 x2 x2 x2
Ques 30. ANS (B) Solution:

gl 21: 3P 7x: x D SUH g
g4I, 574 = 7% 2

574
=7 =22=82
!

Here, 21: 3 is given in the form of 7x: x.

S2="t_g

Ques 31._ANS (A) Solution:

WPTR 3R PR B qadH AT = 3 ; 4

07T

P e s n s 3 S
HIAT o TepT=T 3R BIe 1 ToiH 3 3x 3R 4§
AT

. (3z—6)
{4z 6) .

[}

= 21x-42=20x-3

=

= 21x-20x=42-3
=>x=12
?ﬂ'-ée_{l'_;lc:;ﬁ.y_::4x:4x-::4gﬁ
EI*IIQ_{:I";[:_FI-_-:'{—J_H?[,*;

Ques 32. ANS (C) Solution:

TgT 3ERuT foban T WET §:
The pattern followed here is:

T O R Q U E

+3l +4l +3l +4l +3l +4l
W S u u X I
ERICEARY

Similarly;
G A B E N T

+3l+4l+3 +4| +3| +4

J E E 1 Q X

Ques 33. ANS (B) Solution:
gl SR foran a1 9 &:
T GUUT ! Siead T WIell 8, <t a9 3R 3R 378 3R
%Héra fIUid 9 91T & S S SR ) FHH Bl

I
T UHR, T4 GUUT B PQ TR Tead T STl & Id &t T8
The logic followed here is:
When the mirror is held vertically, the left side and right
side changed vice-versa where the top and bottom
remain the same.
Thus the correct mirror image of the given figure when
the mirror is held vertically at PQ is:

R4PQ5F E ACO9hA

Q
Ques 34. ANS (A) Solution:
fea g,
AT (A)6x16+2+4-3=14+7+4-2
IT¢ § 218 gl &I 9ga 3R BODMAS 4w &1 IuaiT
A IR,
=26-16+2+4x3=14+7+4x2
56-8+4x3=2+4x%x2
=>6-8+12=2+8
=18-8=10
=10=10
fdhed (A) BODMAS aH &I Ty &Hrar 3
Given,
Option (A)6 x 16 +2+4-3=14+7+4-2
After replacing the sign from left to right and using the
BODMAS rule,
=26-16+2+4%x3=14+7+4x2
56-8+4x3=2+4x%x2
=26-8+12=2+8
=18-8=10
=10=10
Option (A) satisfies the BODMAS rule.
Ques 35. ANS (A) Solution:

e ACHIT FH G,




The correct dictionary order is,
2. Wraith

3. Wrath

5. Wreck

1. Wrest

4. Wriggle

ues 36. ANS (D) Solution:
A B

P < 0O

L8]

O

?\'l R S |G

" LK . I
g
ABCP; PCQO; CDEQ; OQRN;
QESR; EFGS; NRLM; RSKL;
SGJK; GHUJ; PDSN; OEKM;
QFJL; NQSL
fou guxatm # oot 14 B
The squares are :
ABCP; PCQO; CDEQ; OQRN;
QESR; EFGS; NRLM; RSKL;
SGJK; GHIJ; PDSN; OEKM;
QFJL; NQSL
There is a total of 14 squares in the given diagram.
Ques 37. ANS (D) Solution:
Tg1 SIIRT ab 39 TR -
The logic follows here is:-
86 74 84 776 82 78 80

(S N Y I 1Y Y O I |

-12 +10 -8 +6 -4  +2

Ques 38. ANS (B) Solution:

T8l b 39 UPR 3

The logicis:
C A T
3 1 20

CAT=3+1+20=24
R A T

18 1 20

RAT = 18 + 1 + 20 = 39
3 UPR,

Similarly,

M A P

13 1 16

MAP =13+ 1+ 16 =30
Ques 39. ANS (B) Solution:

JuTl & qUIIHH & TR,
TP U &R BT +2 J ST Sl |
TS GIR 3R & -2 Y I ordl g

According to the alphabetical positions of the letters,
Each first letter is increased by +2.
Each second letter is decreased by -2.
+2 +2 +2 +2 +2

| | I I I |
DW Fu HS JaQ LO NM

I I I I I |
-2 -2 -2 -2 -2
Ques 40. ANS (D) Solution:

IR CARES

" e
'--.

%ﬁgﬁu@rﬁwwsﬁmwzﬁ%$ﬁuﬂﬁﬁﬁ
!

4 3R 5 TH T & AU g

6 3R 3 T g & fauia g

1 3R 2 T TR & famia gl

3 figait o wae & fausid 6 fig g &
The figure given is:

)
'-..-

Alternate faces always lie opposite to each other in case

of an open dice.

4 and 5 are opposite to each other.

6 and 3 are opposite to each other.

1 and 2 are opposite to each other.

6 dots lie opposite to the face having 3 dots.
Ques 41. ANS (D) Solution:

e, ueh § IR ATRAs, I8 B

S, GHIRIT 37 3RE U UPR 3

Eﬁﬂ(—@@-—)ﬂﬂ?ﬁﬁ
¥
Rt

Eagle is the Bird and Crocodile is the reptile.
Therefore, the possible Venn diagram is as follows:

Eagle e@ O Crocodile
v

Bird
Ques 42. Alr\lS (C) Solution:
& 1S sigren g U 1 SgERu B B,




257 = 5%-32=25-9 2598l 257
4162 2°-4"=4-16 —416

925 =32-5°=9-25925
164=>4°-2°=16-4 164

Y UPR 257 faum = gl

Ques 43. ANS (B) Solution:

fean g,

Given,

24*12*35*24*6*319

IWRId JHIDBRUT bl Hferd B & forg 0Ty Habdl &
fdhed TS DI TGHR T B FUY ST G *
Hohd! ¥ Ui = 5

By putting option combination of mathematical signs
that sequentially replace the * signs from left to right to
balance the above equation.

(B) x, +, -, +, =

24 x 12 +35-24 +6 =319

24 x 12 +35-4 =319

288 +35-4 =319

323 -4 =319

319 =319

Ques 44. ANS (C) Solution:

DTS & gbg Pl JieH WR:

On unfolding the piece of paper:

460

8

<
000

Ques 45. ANS (A) Solution:

Tt IR SMFH R BT YD Sacidh B TR §H a@d
? & W snafa (a) € Uy snefa &1 ufafsra g

On observing all the answer figures carefully, we see that
the answer figure (A) will be the image of the question
figure.

i

Ques 46. ANS (C) Solution:

IET SFHRA deb 9 UDR &
8%+ 8> =64+ 512 = 576;

I UBR,

13% + 13% = 169 + 2197 = 2366
The logic followed here is:

8%+ 8> =64 + 512 = 576;
Similarly,

13% + 13% = 169 + 2197 = 2366
Ques 47. ANS (A) Solution:

&t et el 3
131102@6%2"41

oy % aR o g1 61 §aw =,
134+ 102 =6 x 2 — 41
=13+ (%) x2 -4

= 13 +17x 2 — 41

=13+ 34 — 41
=47 —41 =06
Quwes 48. ANS (C) Solution:
gl 3aRd dF &:
The logic followed here is:
+
BB g By B ok By
E +3:‘H+3:K+3:N +3:Q
+ + + +
I 3.L3.‘03.'R3.'U

Ques 49. ANS (B) Solution:
3 €t 118 arferesT B Udiep! o1 IuTT B, g4 Rgfefad
IRATRS g&f T Thd &

e o Teiies apf

() | wfe

| [l D—{ o]
&>
-

QRN &1 AT 1 AT QR B Udl;

[R(ieh B Udll b AT QRMeh b BIR-3-;
WIeR-34-01 BT G R BT FER-3-al

STy, fawe, QeI &1 §aR-3-o1l 5|

By using the symbols in the table given below, we can
draw the following family tree:




Symbol in
Diagram

O Female
|:| Male

Married
Couple

Meaning

— Siblings

Difference of
a generation

According to the given information,

Wife's
Father
Shashank Wife
Daughter
Here,

Shashank's daughter's mother — Shashank's wife ;
Shashank's wife's father — Shashank's father-in-law;
Father-in-law's son — Shashank's brother-in-law
So, Vimal is Shashank's brother-in-law.
Ques 50. ANS (D) Solution:
Given equation 23 * 12*6*2*12*3*125* 5 * 34
Option (D): Using the combination +, -, x, +, x, -, =,
23+ 12-6%x2+12x3-125+5=34
23 +12-6x2+12%x3-25=34
23+ 12-12+36-25=34
71-12-25=34
71-37 =34
34 = 34 (LHS = RHYS)
Ques 51. ANS (C) Solution:

e e:

i &1 U% g &atd = 462 Y2

-+ X 1 U1 gHTa & = n x Bieat < foda S

=462 = (2) x B = 35

£ WA €, 0, AABC &1 T3 g &
dl, ZPOQ = 180° — /A = (180° — 40°) = 140°
- ZBOC = ZPOQ = 140°
/BIC = 90° + £ B9C
> /BIC = 00° + &2
> /BIC = 90° + 70°
> /BIC = 160°
Ques 53. ANS (A) Solution:

feamare:
C
hdl; — 8 §H

fal

3R 1 f3ear = 6 i
W% 1 B YEE 8B — ar? 4 arl
ST = 8 Tt IR e = 6

fods Sas | = /8% + 62 = 10 9+

4% BT JEE 43560 = a1’ + arl
(36 + 60)
. 967 ST 2

Ques 54. ANS (A) Solution:

A T P ATIRIH T Tel § i g9 Fof AT F g1 IR
Tt X gohdl &

¢S o WA T Wl DI A YJT = (35 + 42 + 45 + 50

+ 60)
=232
IRW & Wl Y Wl DI Hol AT = (22 + 18 + 32 +
30 + 45)
=147
232147
smamE R < 100
55 100

= 57.82

.. ety ufoma 57.82 2
Ques 55. ANS (B) Solution:

RIS SFRA M= 5 +

UYER,

2x(3-3)=(3 +9)
>y = 1.5 e
Ques 56. ANS (A) Solution:




famd:

5in 34° cos 236°_zin 56”sin 124°
cos 28° cos 88” - cos 1787 sin 208°

cos 236° = cos (180° + 56°) = - cos 56°
sin 124° = sin (90° + 34°) = cos 34°
cos 178° = cos (90° + 88°) =- sin 88°
sin 208° = sin (180° + 28°) = - sin 28°
15 sin 34° cos 236°_sin 56°sin 124 posey novo oS it G
1 @I cos 28° cos B8 | cos 1787 sin 208° H _E’.ﬁ %

= sin 34° cos 236° sin 567 sin 124% 5in 34° cos 56°sin 56° cos 34°
cos 28°cos 887 fons 1TR sin 208° —  cos 28" cos BB} sin BB” sin 28°

amﬁfﬂﬂﬂﬁﬁ%ﬁi sin (A +B)=sin A xcosB +sinB
x cos A and cos (A - B) = cos A x cos B + sin A x sin B
sin 34° cos 236°—sin 56° sin 124° sin(34°456°)

= cos28°cosBE |cos 1T sin208° cos(88° 28°) —2

Ques 57. ANS (B) Solution:

Ques 58. ANS (B) Solution:

R,

2004 7 0% T & wAEEd = 10, 00,000
2005555 = 15%

2006 F HH = 35%

2007 535 = 45%

e e g S,

AT T = i wEE x [(1004-3@%) /100] x [(100— 7% )/100] x [(100+3Z\%) ]
— 10,00, 000 x [%] x [%] x [%]
=10,00,000 x (157) x (45) = (153)

=115 x 65 x 145

= 10,83, 875

.- T4 2007 & 3T 7 T F weE 10,83, 875F

Ques 59. ANS (C) Solution:

famr mm:

Tgdl 2 a4l o e sare @t e 8% &
2Tt 3 gl & o UE 10% &

54 4 afis ot sl F e ag 12.5%

T[T = 20 TG
YT F1 T2 29 = 36.7 TG S0
=P+ SI

_ P=R=T
TR, 8T = S5

el P — gereA, R — s #t ez, T — 989
TasSI=A —P=36.7TL— 20L

T SI = 16.7 7@

Tgd 2 aui F R ERRT e = 20 L x 2 x 45 = 3.2L

e 3 O & R R o — 20 L x 3 x b — 6 L,

o, UEe 5 961 & fo o TR e = 9.2 L

T, 3w = 12.5% 1 o S I el 3
IMFAF=16.7L - 9.2L=75L

A NS F TR EN =20L «x N x 125% =75L
N=75Lx 4 L (125% — ) (305

N=3

g paad=24+343 =80

Ques 60. ANS (A) Solution:
a1 8 gu iR U &1 T SHE: O wice SN Bz oiice §1 <t T SRl & SgER,

Bx_ _ 5l

Ex+10 © 47

= 423x = 408x + 510

= 423x — 408x = 510

= 15x = 510

= X= 51_150

=x=3

- Torur o g 1 aRdid® OH = 9z — 9 x 34
— 306 ®ieT

Ques 61. ANS (D) Solution:

fHS01 A 1 HET = 500 x 0.2 = 100 L

B80T C Y e WA = 500 x 0.25 = 125 L

f2r807 A IR C & TIeT BT 7H HH: 37.5% MR 60% ©

fisor A 7 HIST &1 AF1= 100 x 0.375 = 37.5 L

3R fYor c H ST BT AET = 125 x 0.6 = 75 L

3ifaH frgror § WST ST AR = 37.5 + 75 = 112,51
1125

e e

Ques 62. ANS (B) Solution:




=%

feare:

ddlide
[

SR YEE B 49Fd — 1447 12
T o &9 9 &, 99 &1 8% = rx BEer
> 144 am? = wx B

feam = V144 = 127

qUleR HES P Al 586 AEUE & gy digd = 12 + 5 = 17 4t
- EEE g4 = 7 x (17)2 = 2897 #i2
Ques 63. ANS (D) Solution:
fear mar &:
23846x, 6 9 faHTg 3
?ﬁwmsﬁﬁm%a‘rt{az 3R 3 9 Hi favrsa
I
2 3 faTsa: T TRe 2 ¥ favTsy it ? o 59 gaTE
3 & WM W T TH G &Il §
3 9 favTsy: te de 3 ¥ faurey § afe ot siel &141m 3
¥ faurea g
&iﬁﬁ?ﬂ"'{=(2+3+8+4+6+x)=23+x
T SReATy x BT Ui gt HR Gebdll §
23 +2 =259 39 fAaura Tl §
23 +4=2798 38 o &
X PTG BICT A 4 B
Has been given:
23846x is divisible by 6
If a number is divisible by 6, it will also be divisible by 2
and 3.
Divisible by 2: A number is divisible by 2 if it has an even
number at its unit digit.
Divisible by 3: A number is divisible by 3 if the sum of all
the digits is divisible by 3.
Sum of digits = (2 +3 +8 +4 + 6 +x) = 23 + X
Odd numbers cannot replace x
23 + 2 = 25 itis not divisible by 3
23 + 4 = 27 It is divisible by 3
~ The smallest value of x is 4.
Ques 64. ANS (B) Solution:
feans:
10 GXAoh! 1 ANTd Jed = 8 GRAd| &1 fosh! G
g
Y = fahd gy - drTd e
Y UfA=Id = (@1H/NTd 9ed) x 100
T b U e &1 fashd geg 10x 8
dl, 8 Xad! I fashd ged = 80x
10 G| B AT Jed = 80x
=1 0WF S I = - = 8x
oy = 10x — 8x = 2x
@ % = X x 100 = 12 — 95%

. TfereIe 1 TH 25% 1
Ques 65. ANS (A) Solution:

fear &:

fsren | gew | migen
EL ] 42 30
e | 48 52
P 46 60
DITRT | 56 20

fRITAT 3R FHITST ¥ Fd T3N WA o1 T = 48 +
56 = 104

oqT 3R Foa A Fo Afga UfaHIRET Bt Wem = 30 + 60
= 90

3HiY 3rUTd = 104: 90 = 52: 45

R 3R FHITST & Fa g3W UfaHTia) &1 fiyaress 39!
T WA ¥ 4T 3R P, I FHedR Fd Afga
iU Bt TS BT ST 52: 45 ¢ |

Qﬁlfs_% ANS (A) Solution:

Il &

ferefex & s #t uffy = 11 3eft
R AT L
firizR & amuR S uikfd = 27r
> 2x 2 xr =113
i

fireies &1 amae = wrch

(Z) x (Z)*x 4

38.5 @it 3
Ques 67. ANS (D) Solution:
fam®:

25 cosec? x + 36 sec? x

ol 5 en T & o msec? @ + n cosec?d = (vm + /n) HAoH O
gl m= 36 3R n =25
. 25 cosec? x + 36 sec? x T a0 O (v/36 + +/25)2 = 121

Ques 68. ANS (A) Solution:

fean mar g,
;1?—%24

T PR,

2+ 5 +2=16
zlrarg—?lg =14

g1 A ®,
i+ L +2=196

=zi+ 5 =196 — 2 =194
A
Ques 69. ANS (A) Solution:

fean s,

e W faghdT 20% P SO 10% Fe ol 8, o fashdr 45
¥UY FETA1 G|

fasha geg = 3ifohd T x (100 — §€%)/100

AT Pt Hal BT 3Hfdhd Jed 100x §




Uy & IR

x 90 _ 80 _
100xx 20— 100x x 3 =45

= 00x — 80x =45
=10x =45

=x= =2

=x=45

Bl &1 3ifdhd T = 100 x 4.5 = 450 T
Ques 70. ANS (C) Solution:

g
feeeht & fow 7 fedpe 3R SRR & o af fewel &t
Fd = feweh & f g fewre 3R sk & fore 9
fewel @t A
A % feeeh & forg fede 1 Hiod x FUT B TUT SgawR
¥ forg fese &t Hiwd y IuL g
feeeh & fore =t fewve SR sMyawR & forw & fewel
Er’ﬁ'ﬂlﬁ%=9x+2y
feeeht & fom al fewpe SR SrgaeR & o 1 feawel &t
T:Iﬂ'ﬁl?[%=2x+7y
=29+ 2y =2x+7y
= 7x = 5y
s, X __ B

ﬁ"_—?

Wﬁﬁﬁ@%ﬂﬂﬂ?%%ﬁﬁﬁﬁaﬂmaﬂ

U 5 : 7 B
Ques 71. ANS (A) Solution:
A B C, D3R E® AHJ 40T B

W A+B+C+D+E _ 40
A+B+C+ D+ E =200

A+B=170
C+D=84

E =200—70—84
— 200 — 154

= 46

31d: faded (A) TR 3 |

Ques 72. ANS (A) Solution:

V10— 2v21 + V8 + 2v15 = Ja + Vb

= (VIR + (VB3R -2 V7 V3+/(vVBP+ (V32 +2-V5- V3= a+ b
= \\' VT — /34 \";\'_ VE+ 32 = /a+ b
= VT—V3+/5+V3=a+ b

= VT +v5=va+vb
Wa=7b=5

= vVab=+vTx5=+v35=50

Ques 73. ANS (B) Solution:

TRFIG, S =a+b=—2
ol BT uET, M = ab = £

S=(ab+a+b+ab—a—b)=2ab

2c
S=37

M — (ab+ a+ b)(ab— (a+b))
M = (ab)? — (a + b)?

M= ()" —(-%)
M=t

(15

A FHIBI0 I, §H W &id &

z? — (HEi S1AN Y+ HeEl &1 ST = 0

a’z? —2acz+c2 - =0

Ques 74. ANS (D) Solution:

fearg:

o 3reT-3eT Tife 10 fopet/der, 12 fpel/der 3R 15
foeit/eer g1

T = 45 fiFe

T

qqg = g/

AP Y Q & Hd gt 3D B
o oY,

T-| +T2+T3=T

D _ 45

= % + % T 13 =6

_. 6D45D44D _ 45

7 60 — 60

= 15D = 45

=D =3 THHl

Al =3D

:@Qﬁf‘;w
~PHQ P Tagd o P El

Ques 75. ANS (C) Solution:

ﬁ'qTTI'CIT%:

A DI B R PR T T are 9099 = 5 e
B &1 ®TI R HR- H T aTal 98 = 8 faA
W:H:

IgT g% F1d BT © % AT & Ufehp g &1 IuahT
FRb A DI o BT fba fewa faar S|
A P! B T HA B @ arel I8 = 5 feT




|

AERI1 e ¥ g @ o = £ 5e

®
1]

B I B X1 B H T arell 9 = 8 fa

=

BERI1 e d fearmar & =

0| 1t
]‘\

A

g ¢
PR BI3JU=A:B=5 : § =8:5
A DI fgeT = 5 x 6760

A 1 f81 = 4160 34T

- AP RS 14160 $UU &

Ques 76. ANS (D) Solution:
YIS fAg e 3, 3B 19T & 1 I A g
I8 U YR IS HRiwdl 3 fS8iH YRd & ToRd
1T H Sf1feart e & I o fog s foba |
1922 ¥, I51- Uil YaT Heol Bl RITTT 1|
Amritlal Vithaldas Thakkar, popularly known as Thakkar
Bapa.
He was an Indian social worker who worked for the
upliftment of tribal people in Gujarat state in India.
In 1922, he founded the Bhil Seva Mandal.
Ques 77. ANS (C) Solution:
IS B HHT HRUTT TR BT W= 8T el B
S IR fay ot 9o 9t 3ita B 1 S 9rR w5,
FA G
Iraq does not touch the Caspian Sea.
The Caspian Sea is the largest lake in the World. The
Caspian Sea touches the countries Russia, Iran,
Kazakhstan, Turkmenistan, and Azerbaijan.
Ques 78. ANS (A) Solution:
e 3foifde T8 3|
Sfd HR! & SfeTal 3= HRE Sl ATdTaR0l & o

g, 3ifdP RS PHgard o
3 PR § SIdryg, dTOH, Iu, qH fHg &
UHR (el a1 forgt, &t a1 Tiiell, SUSIRS, AT 3USiTS),
3R gaT1 i § | oo & &, srifaws (Foffa) gea
Sfal & fore ot 3R SRfSH UeH & &1 Hgayqul drd
I
Plant is not abiotic.
Factors other than the biotic factors which are important
for the atmosphere are called abiotic factors.
Other physical factors include climate, temperature,
precipitation, types of soil present (sandy or clay, dry or
wet, fertile or infertile), and wind. In the ecosystem, the
abiotic (non-living) components perform the important
function of providing water and oxygen for organisms.
Ques 79. ANS (B) Solution:
ARG, IR U & 5o & | a1 I aren T g1 39
I, TSP Tl R T DR Sol-do! Tgerd JaldR
TH Sl b TRIAST B 30 RR WR Sferch Afgemd 21
Charkula is a dance performed in the Braj region of Uttar
Pradesh. In this dance, veiled women balancing large

multi-tiered circular wooden pyramids on their heads

dance to songs about Krishna.

Ques 80. ANS (A) Solution:

T g W TP ag §RT I 71 YOG (URe) a¥g &

SAM & SRISR Bl 5|

YUNG: 3Y Ydg R dadd bl 9% gRT TR U §d & FY

# uRYIYA foar T &1 I8 =2 o AT & dieR | 1

RYITT T & STd T b & Tt T 1 iR

faudia ufafesan it 81 yong &Y S| g&1E e B

The thrust exerted by a body on a surface = The weight

of the body.

Thrust: It is defined as the force exerted by an object

perpendicular to the surface. It defines Newton's Third

Law of Motion i.e, For every action, there is an equal and

opposite reaction. Sl unit of Thrust is Newton.

Ques 81. ANS (B) Solution:

ST (UWW) o YR SRt 9 (W)

D! TCRIAT IE R 41 8. X, fay St I9 3 T W

14 ol BRI & HRUI YR HRell 99 Bl Hafad fbar

2. JATES 68 WdfAT 3 30 Hg 1 R Ht TY BT

T feradR del o1 foh STt 45 & (15 JaTg ) YRAT

BRI T BT I g1 I ol AT qes AT

YR HRcil HETHY DI G DI g DR i,

Ques 82. ANS (D) Solution:

%ﬁ%ﬂazaﬁuﬂ?ﬁuﬁﬁmmmaﬁ?&mww
I

Ig HIFRTa 3fSehr gRT foam mar T

3T 32 YaUTH® IUAR & SfABR & 3farid 3mar g
Hiferes 3MfeRI Y AR A & foIe, Fate e &1
35S 32 & dgd faftid = uf &) fera &1 PR g
Afaert (Re) Ui UHR &1 Bicht § - a4t Tefian,
TRATERT, I, YT, DR g=aT|

Article 32 is called the heart and soul of the Indian
Constitution.

It was given by B R Ambedkar.

Article 32 comes under the Right to constitutional
remedies.

To enforce Fundamental Rights, The Supreme Court is
empowered, under Article 32 to issue writs in various
forms.

There are five types of Writs which are Habeas Corpus,
Mandamus, Certiorari, Quo Warranto, and Prohibition.
Ques 83. ANS (D) Solution:

HAGHAR BT 'HY HIARA B A I 5171 o1t g |
HUHAR! AT UgTisal & gt RR iR Rua g1 Fu
o1 o § T B gt g3 i ofR SRA FrgaRt &1
gd 19 3 | fafe=r *mae & RM, ifde! ¢k il 3
HIHIN & FHM TSHID BT Ieeid HRA P 1T U Asq
T gEAHT fobaT T

Kanyakumari is also known as 'Cape Comorin'.
Kanyakumari is located at the southern tip of the
Cardamom Hills. Cape means the land infiltrated into the
sea and Comorin is the former name of the Kanyakumari.




During the British Rule, sailors and traders used the word
Cape to mention the identical landmark of Comorin.
Ques 84. ANS (C) Solution:

G, TR g HIAHT Ifg 3R WA IRAWT Y 31afdr g,
o SR BIRABT T 37T B JHYAU & T TR
HRA 8| PIgAYdD ¥, G2 TRVT HIADT Tsh BT U
TR T T8t 8, FNfh $& IS UHR 1Y DNA
Ufpid o TG & forg 3t 95 d ]

G, phase is a period of rapid cell growth and protein
synthesis during which the cell prepares itself for mitosis.
Curiously, the G2 phase is not a necessary part of the cell
cycle, as some cell types proceed directly from DNA
replication to mitosis.

Ques 85. ANS (D) Solution:

HRd H Afgersil & ford SIReUT 1 eyl vt st
HReff H 7

TRl 7T ATHT R TR B T Jomett g1 739
3R 749 TR SRAFTHT F HRA & Wiu™ § &1 7Tyl
P SISTI HFT IX B 'S Gagd” (739 GRNY gRT SireT 7130
v fEam T o7 SiR YT IX-A BT "TRUIAST (743
TNeE gRT et ) e fear mar uni sifdfaog o
Afganali & forw 9t Bt oo T & e e A oH T
(@ SR THE & oy SiRfgra et 1 e afed) 1
PlERIEE]

Reservation for women in India is available in Panchayati
Raj Institutions.

Panchayati Raj is a system of rural local self-government.
73rd and 74th Amendment Acts added two new parts to
the Constitution of India. Part IX was titled "The
Panchayats” (added by 73rd Amendment) and Part IX-A
was titled “The Municipalities” (added by 74th
Amendment). The Act provides for the reservation of not
less than one-third of the total number of seats for
women (including the number of seats reserved for the
SCs and STs).

Ques 86. ANS (A) Solution:

YR P T UG Al Tod T IHhT §. T Thdl R &b
foreaagRe & Y= fovar o 8. Whd &1 3Igured gd Iyufa
¥ 1Y pifde A foar. ifaf faenye yRd o 3
WGl B ARE &1 § Afh Tet AHa Rrerehl & Srarar Al g
J +ft 5= P UG ST 3R I8 P (AWl B IR H
BRI & ST, T Al T6d DI AT So (IMETAT)
JuT 3R dfcd $XHA & TgaNT I T11 71 6. Al T B
Aeg ¥ g Whd H e &I fSoeH, TS af-,
Ui 3R BT wHdH Afed fRian & fafte uggsf #
D] SEAHTC fob T STETI,

Ques 87. ANS (D) Solution:

S e & g onfifer fawra & gfs &1 dha it B
Sftae e &1 31 & o T aafaa foram auf de i &t
IufiE P bl 5|

e gfs: Ig o= # axgell ok Yarefi & ardfa®
Iare H gfg &) gufdr g1 g sherdl, IusiT, Wt T,
ﬁﬁm?g@ﬁuﬁ%aﬁﬁ@rwﬁmqﬁﬁ
efd g

3fies fapT: 3T T 31y, Sard SR A= & TIy-91y
G & GETRID- e g # TRl aRad (ERIATd
3R de-d! URkad) I 8| I8 A1Fa Yot &t 3fG, SRaEar
F 3fipel § HH 3R TS URad-! & Gafdd g Sl
SRR & STaH T Juradl § GUR IR 8, o st
TN # gfs gt g

An increase in Life Expectancy indicates an increase in
economic development. Life Expectancy means the
number of years a person can expect to live.

Economic Growth: It refers to an increase in the real
output of goods and services in the country. It relates to
a gradual increase in one of the components of GDP,
consumption, government spending, investment, and
net exports.

Economic Development: It implies progressive changes
(institutional and technological changes) in the socio-
economic structure of the country along with income,
savings, and investment. It deals with the growth of
human capital, reduction of inequality figures and
structural changes that improve the quality of life of the
population, which increases in life expectancy.

Ques 88. ANS (B) Solution:

AP T THR BT IR Tl 3

JHP! T ARy Regaa Ifdg e § S e I
CIoH, WRIGAR 3R 31 ATAIIR S ARy T Tl T
3 3R 9Q W BT B

McAfee is not a type of virus.

McAfee is a Virus Removal Service software that detects
and eliminates viruses like Trojans, spyware, and other
malware from the computer.

Ques 89. ANS (B) Solution:

Y & UFUld SAIGHR gfcr o Rt sRiad &= drel
TR T AT FORTife &t i dR R e famm
g1ed H HId 81 71 2. A e IR 9u & g
2. 8 JU U W1gac fpvy & Y] ) A1 8. T I o
e FormfEm senferfiR gfar & 9gd B4 U 3R 3% I
"JE QA% BT S . BIadifh, §1G H I Y &

e g1 fasie o= faar o1, g R =9 & Sepyur
3T YU BT el HFTERT 3R shfer o forg sfid g1
FRA & HRUT a8 a4l 7 31177 2.

Ques 90. ANS (D) Solution:

YR URATY] HTIHH & S & =0 H gIH! SIgifiR HHT
&I ST S 6 |

Bt TR HIHT U WRA TRATY] 1hfaes fagr, Swime
= SR TTeT gayd Sruu™ IRH & Hifde! &
THIR A1 1954 F, HTHT 7 S T Th URATY ST H5
D1 RG] 1, SR 918 & HTHT TRATY] 38T 5% (BARC)
1 AT foam T 4|

Homi Jehangir Bhabha is known as the ‘Father of the
Indian Nuclear Programme’.

Homi Jehangir Bhabha was an Indian nuclear physicist,
founding director, and professor of physics at the Tata
Institute of Fundamental Research. In 1954, Bhabha
founded a nuclear research centre at Trombay which was




later renamed the Bhabha Atomic Research Centre

(BARC).

Ques 91. ANS (B) Solution:

17 o Y] & SR 3STieH e =6 1| gRT fafed

frare-u-Tavy g Sadreil 3R gieas ddl & v=iar &

Tfidl &1 908 3

SeIgH SMfee QT 11 Sf1feet ISTATE! = BT b Ja |

WWWW@W 7| IR A I & Ry
T Thare-T-Fay ford, St HReira Hiedeed

IFEETIUT it fAuTeh g

Kitab-e-Navras written by Ibrahim Adil Shah Il during the

17th century is a collection of songs in praise of Hindu

deities and Muslim saints.

Ibrahim Adil Shah Il was a member of the Adil Shahi

dynasty, He was a king of the Bijapur Sultanate. He wrote

the book 'Kitab-i-Navras' on the theory of nine Ragas,

which plays an important role in Indian aesthetics.

Ques 92. ANS (C) Solution:

YRE ST STR UGRI & RIS & H gl 8| UIE Sl

DT UG ST FTIRT § 3R & HN HA &1 J IR

! T Sad € o Zo1- 3T I B U U ¢ |

TRTE & T RATTHd 3R Sallg T 7t gRT fbg Mg

Hel § 3 Ha IR, TR1s, HITR, 3R TeR IR § <l

% ol gU S| RIS & BT gdf W Srane s § g &

&Y H S 91 g |

Tharu tribe lives in the Tarai region of Uttar Pradesh.

Most of the population of the Tharu tribe are forest

dwellers and some practice agriculture. They speak

dialects of Tharu which is a language of the Indo-Aryan

subgroup. The Terai region is a depositional landform

and alluvial plains made by the river Ganga. The other

plains are Bhabar, Terai, Bhangar, and Khaddar stretching

from North to south. The eastern part of the Tarai region

is known as the Duars in Bangladesh.

Ques 93. ANS (D) Solution:

%W?rﬁlﬁn‘ 3egd JBIH W &I GH-T-GHT BT T

|

B BT 3l ATH @IiaT Bl @ 3fegdl 84 4Tl

I 3P AR & A Agayul 7T # I U o1, R qaRal

& A\ § ot 1 o B

PR &b AR 39 UHR ¥: IS dRTd, I, 3G

ord, Trotl, I1oT A g, o1 SrSHd, Hedll & &,

WD R TSNS, 3fegdl g1 WH-T-TTHT |

Akbar gave the title of 'Khan-e-Khana' to Mirza Abdul

Rahim Khan.

Khanzada Mirza Khan Abdul Rahim was the real name of

Rahim.

He was one of the nine important ministers in his court,

also known as the Navaratnas.

The Navaratnas of Akbar were as follows: Raja Birbal,

Tansen, Abul Fazl, Faizi, Raja Man Singh, Raja Todar Mal,

Mullah Do Piaza, Fakir Aziao-Din, Abdul Rahim Khan-e-

Khana.

Ques 94. ANS (C) Solution:

3H W TGHE A TP Thex ¥ HH B R ol @ifed
®1 O BT Sidal TR §F T S NN B S 2 agsR
I gyTet BT SR T & U TS Bed! IR Bt fo=m U
FAICC WY BN | S e A WIRed Ho AR Tar-ide
W 3YP GUHTA! BT TH FHRA HT Tdbed fordl § 3R T8 97
S BRI BT T g1 &1 23 3T 2023 P H
TR R 3 fauTT = T AfefthaeH oRt fvar &
Tfefrerer o Fe1 a1 ], &1 RiTd go1 wiiea (SUP) aret
U, S R o &1 9gd 31 HORy gl 8, 3
TrRfEdSad gt oft 83 v wHg do TarHie &l
JHIM UM &1 HRU §T § 3R TA-HE geg & [ad
WA Bicil & | ST 35 o foaT STl &3 o,
TRIEH, 9T 3R Wi B W AS TS St ¢

Ques 95. ANS (C) Solution:

TRYE a fagM siyey HwF & THHTE U

DD GYH T HiTsh HgH, IATeg] (127-150 ¥5)
HIU G=T &1 U YU, ST I, oI 3R
3negTide Jueiferal & fory Ui 81 Siely HRd & Ueb
NG RiAD, TeH DR, B 3R gaaT A ITHT 0 IR
YRA & Tl B g3 YT AT ST § % 98 Uga Tgpd
ACHBR |

YA T I SR i Y, o8 piferar (s3f e
3 UEd YR 1 I §31 BT 3R Tpd AlCH BT S
AT ST § | 3617 BT & F0 § S ST arelt Thd
ST I RAcH Pl ABIUT TR SR 3fch: URMR H
BITD b IR H Th ATHD JAGDHR &b Ug R
gared faar |

The famous Buddhist scholar Aswaghosh was a
contemporary of Kanishka.

Kanishka | or Kanishka the Great, an emperor of the
Kushan dynasty in the second century (c. 127-150 CE), is
famous for his military, political, and spiritual
achievements. Asvaghosa or Ashvaghosh was a Buddhist
philosopher, dramatist, poet and orator from India. He
was born in Saketa in northern India. He is believed to
have been the first Sanskrit dramatist.

Ashvaghosha was a philosopher and poet who is
considered India’s greatest poet before Kalidasa (5th
century) and the father of Sanskrit drama. He
popularized the style of Sanskrit poetry known as kavya
and eventually was promoted the position of a spiritual
counselor in Kanishka's court at Peshawar.

Ques 96. ANS (D) Solution:

BTR I 33T gRT USRI 3R TR -7 faga
Rt gr1 feifad gedes, "Sab 3119 od: g AW, fas Ue
T 3T HAR”, 1591 Tt &b B B TRgd Bl @, ol
o BT el | ITebT Ju, I R TR fbar a1
31 & s JWo Pl o4 b0y [hagfadl, I7@1 e
3R 3! HiAdT & AT ¥ [RIATG! B HER & Sila
&1 FId BT 5, oI 9 UM IR 3gYd 3R Srarfed
f3ar a1 B | U8 T U & WM R HAR $I Sita1, 376
B BT &Y A B 1 PR B Agdyi a1t 3y
TSI o ferul




Ques 97. ANS (A) Solution:

BT &1 H SITUT & 18T XeR | T T HRIHH

S{TAfoTd fobam T 1| 39 HFHge YiohHI fUbTad = Hig

Hig & foe 7 foran | fUeerg S/ & off9 qad Ald g

3R g ST TR g1 39 a9 Ui AT aee iRy

Troprer Rict g1 gufia smaferd 31 < | 3aw fay

<t & Amifed B & fog dienr SR e o,

TIHHTT PHTS T, WHHT 7 3R GpHi ?ZITﬁlﬂ'%l

fay IR g e 57 SMReT gg

Wﬁa@%@ﬁ%aﬁsﬂaﬁwﬁ ST Bt

TS oft | U & U ThIgTHT IIRTed 3 A HRd U

ATHYS T faal

Ques 98. ANS (A) Solution:

3 30 2023 B, YR Rord § (RBI) = RS 79 &1

THTA YUTT ¥ 11 HRGR =1 (ED) gad fovan| ag

UG e SR TRefor, foedta TamaRE iR faew

gﬁum,%fﬁﬁum 3R Ffera faum wfed 4 faumm & gy
|

On 3rd April 2023, the Reserve Bank of India (RBI)

appointed Neeraj Nigam as the new Executive Director

(ED) with immediate effect. He will be in charge of 4

departments, including Consumer Education and

Protection, Financial Inclusion and Development

Department, Legal Department and Secretary's

Department.

Ques 99. ANS (B) Solution:

USB TF 3T12d U fediadh UdR &1 XRel fearsy gl

USB &1 I AT gfaeia e a9 81

USB Uah W US Wl ey g Sl TR &I det 3R =T

JUHRON & I TG B B STAR ST 8|

gHaua HRTd 9 (R 1.0) B Ugel! ARG

fefier e’ 1996 & g5 ot

USB @iae fafiid R iR SR # omd §1 9 fafia

UHR & B & for 8 H=db USB, it UsB SR ATSeh! USB

e gt €, o <1 a1 31 YR & PaeR B B

USB Pendrive is a Secondary type of storage device.

The full form of USB is Universal Serial Bus.

USB is a plug-and-play interface that allows a computer

to communicate with external and other devices.

The first commercial release of the Universal Serial Bus

(version 1.0) was in January 1996.

USB connectors come in different shapes and sizes. They

are of various types which include the standard USB,

Mini USB, and Micro USB, and have two or more

variations of connectors.
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